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4الحدود      7u , u  2وu  بهذا الترت'ب هي �دود م�تابعة من م�تالية هندس"ية ٔ�ساسهاα.  

0uن �ٔن- :ابرهال )1 2r=   2و

3
α =: 

4 7u , u  2وu  2بهذا الترت'ب هي �دود م�تابعة من م�تالية هندس"ية  يعني

4 7 2u u u= ×  

وWينا :  
7 0

4 0

2 0

u u 7r

u u 4r

u u 2r

= +

= +

= +

                                                                           

ٔ	ن الحدود 
4 7
u , u  و

2
u  ول هي �دود من م�تالية حسابية	دها أ�
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0uوaلتالي 2r=  

2البرهان �ٔن-  

3
α =:  

W4ينا :  7u , u  2وu  بهذا الترت'ب هي �دود م�تابعة من م�تالية هندس"ية ٔ�ساسهاα  

4يعني   0

7 0

u u 4r 2r 4r 6r

u u 7r 2r 7r 9r
α

+ +
= = = =

+ +
  

6وم[ه :  2

9 3
α = =  
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